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Cultivar Área radicular
(cm2)

Matéria fresca
(g planta-1)

Matéria seca
(g planta-1)

Relação
raiz: parte aérea

Raiz Parte aérea Raiz Parte aérea
25 dias

Agulha 69,73b 0,51b 0,59b 0,04ab 0,38b 0,86a
Bico Ganga 92,45a 0,59a 0,75a 0,06a 0,61a 0,78b
C.V.(%) 12,78 9,68 6,20 9,30 11,36 10,36

50 dias
Agulha 161,60a 2,25 5,97b 0,22b 0,89b 0,37b
Bico Ganga 263,88b 3,54a 7,65a 0,44a 1,22a 0,46a
C.V.(%) 6,45 13,20 10,19 12,10 13,11 12,61
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Cultivar N-total

Raiz Parte aérea

N-protéico
(parte aérea)

  25   50    25    50   25    50

Agulha 16,3a 19,6a 28,9b 20,93b 29,4b 19,93b

Bico Ganga 16,6a 18,9a 30,6a 22,39a 32,5a 23,51a

C.V. (%) 6,68 4,39 6,62 7,35 7,46 6,33
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Concentração N
(mg L-1)

V máx
(µmol L-1 h-1)

KM,

(mmol L-1)
Cmín

(mmol L-1)

Agulha  Bico Ganga Agulha Bico Ganga Agulha Bico Ganga
25 dias

20 16,27b 22,10a 0,513b 0,577a 0,252a 0,222b
40 28,50ns 29,50ns 1,061a 0,867b 0,868a 0,828b
60 34,20a 32,90ab 2,796ns 2,691ns 1,377b 1,537a
80 54,60a 44,29b 3,514b 4,510a 2,049b 2,134a

50 dias
20 20,31b 41,70a 0,836a 0,518b 0,389a 0,119b
40 32,40b 35,50a 2,044a 1,645b 1,606a 0,708b
60 100,60a 52,20b 3,450a 2,938b 1,208b 1,374a
80 134,81a 111,60b 3,517ns 3,582ns 1,873b 2,880a
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